
SUMMER	ASSIGNMENT	
Pre-Calculus	CP	

(COURSE	CODE:	5410)	
	
	
LEARN	 EXCEL	
	

	
	

You	are	taking	Pre-Calculus	CP	in	the	fall.		A	mastery	of	and	proficiency	
performing	the	following	Algebra	1	and	Algebra	2	skills	will	be	necessary	
for	success	in	Pre-Calculus.		Work	on	each	problem	in	order.		Copy	the	
problem	onto	loose-leaf	paper;	show	all	work	in	a	neat	and	organized	
manner.		Box	in	your	final	answer.		Complete	this	entire	assignment	and	
bring	to	class	on	the	first	day.		

	
This	 assignment	 is	 mandatory	 but	 the	 math	 department	 strongly	
encourages	 you	 do	 this	 assignment	 on	 your	 own	 and	 to	 the	 best	 of	
your	ability.		Since	the	material	contained	in	the	summer	math	packet	
is	 prerequisite	 material	 you	 are	 responsible	 for	 having	 learned	 and	
retained.	 	 If	you	have	 forgotten	any	of	 these	 important	mathematical	
concepts,	 you	will	 find	 at	 the	 end	 of	 this	 assignment,	 several	 links	 to	
websites	that	you	might	find	helpful	should	you	have	any	problems	or	need	
some	additional	support	on	this	assignment	
	
If	you	need	assistance	with	a	topic,	try	khanacademy.org	for	mini	lessons.	
	

	
	
	
Name:	______________________________________________		Date:	____________________	
	
Last	Math	Class	Taken:_______________________________________________________	
	
Teacher:	_______________________________________________________________________	
	
	
	
	

PRACTICE	
	
	



	
	
	
	

Summer	Math	Assignment		for	Pre-	Calculus	CP	(5410)	
	
	
					A.		Perform	the	indicated	operation(s).	You	must	find	the	LCD	and	simplify	the							
							result.		Do	not	use	a	calculator.	
	

	

	
	
	
	
	
	
B.		Perform	the	indicated	operation(s).			Simplify	the	result.		Do	not	use	a	calculator.	
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	C.		Simplify	each	expression.		No	negative	exponents.	
	
	

	 	

	
	
	
D.			Factor	completely.	
	
1.	 	 2.		 	 3.		 	

4.		 	 5.		 	 6.		 	
7.		 	 8.		 	 9.		 	
10.		 	 11.		 	 12.		 	

13.		 	 14.		 	 15.		 	
	
	
	
E.		Solve	the	equation.	
	

1.		 	 2.		 	 3.		 	
4.		 	 5.		 	 6.		 	
7.		 	 8.		 	 9.		 	

10.		 	 11.		 	 12. 	

13.		 	 14.		 	 15.		 	
16.		 	 17.		 	 18.		 	
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F.		Rewrite	Formulas	
	
1.		Solve	the	formula	for		 	for	r.	

2.		Solve	the	formula	for		 	for	b.	

3.		Solve	the	formula	for		 	for	c	

4.		Solve	the	formula	for		 	for	w.	

5.		Solve	the	formula	for		 	for	 .	

6.		Solve	the	formula	for		 	for	r.	
7.		Solve	the	formula	for		 	for	r.	
	
	
	
G.		Use	the	points	A(4,	1)	and	B(8,	3).		
	

a)	Use	the	graph	on	the	right		
					to	graph	the	line	segment	

.	
	

b)	Find	the	midpoint	of	
_________	
		
c)	Find	the	slope	of		 	
___________	
	
d)	Determine	the	slope	of	the		
					line	perpendicular	to	
.__________	
	

e)	Write	an	equation(in	slope-	
				intercept	form)	of	the	
perpendicular	bisector	of	

.		In	other	words,	the	
line	you	want	an	equation	for	
is	perpendicular	to	 	and	
passes	through	the	
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	midpoint	of		 .						
	
	
	
	
H.			Complete	the	features	of	the	parabola,	then	graph	the	parabola.	
			
	Given	the	function 	
	
The	parabolic	curve	opens	___________	
	
The	y-intercept	is		_____________	
	
The	x-intercepts	at	most	two	are:	
are	__________		and	__________	
	
The	axis	of	symmetry	_______________	
	
The	vertex	is	located	at	point	_________	
	
Point	symmetric	to	the	y-intercept	_______	
		

										Graph	the	parabola	
										

	
	
	
	
I.		Write	in	simplest	form.	No	decimal	answers	are	allowed.	Assume	all		
								variables	are	positive.	
	
	

1.		 	
	

2.		 	 3.		 	 4. 	

5.		 	
	 6.		 	 7.		 	 8.		 	

9.		
	

	

10.		 	 11. 	 12.		 	

13.		
	

	

14.		 	 15.		 	 16.	 	

17.		 	 18.		 	 	 	
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J.		Find	the	least	common	denominator	of	the	pair	of	rational	expressions.	
	
	

1.		 	

	
	

2.		 	 3.		 	

4.		 	

	
	

5.		 	 6.		 	

7.		 	

	
	

8.		 	 9.		 	

10.		 	

	

	 	

	
	
K.		Perform	the	indicated	operation	and	simplify	the	result.	
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10.	 	 11.	 	 12.	 	
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13.	 	

	

14. 	

	
	

	

	
	

L.		Evaluate	log	expressions	without	using	a	calculator.	
	
1.		 	 2. 	 3.		 	 4.		 	

	
5.		 	 6.		 	

7.		 	 8.		 	

	
	
	

M.		Classify	each	of	the	following,	using	N,	W,	Z,	Q,		Ir	and	 ,	or	none.	
(Use	the	following	as	a	guide)	

The	Natural	Numbers	(abbreviated	N)	are	the	set	of	numbers	{1,2,3,4,5……}.			
	
The	Whole	Numbers	(abbreviated	W)	are	the	set	of	numbers	{0,1,2,3,4,5……}.				
	
The	Integers	(abbreviated	Z,	but	sometimes	abbreviated	I)	are	the	set	of	numbers	{…-3,-
2,-1,0,1,2,3……}.			

A	Rational	Number	(abbreviated	Q)	can	be	expressed	as	a	ratio	 ,	where	m	and	n	are	

Integers	and	n	is	not	zero.		Examples	include:	 .		

Any	Real	Number	that	is	not	a	Rational	Number	is	an	Irrational	Number	(abbreviated	Ir	
or	Irr).		Examples	include:	 .			
	
Each	Real	Number	(abbreviated	 )	corresponds	to	exactly	one	point	on	the	number	
line,	and	every	point	on	the	number	line	represents	exactly	one	real	number.		Every	Real	
Number	can	be	classified	as	Rational	or	Irrational.		
	
Ex:		3:		W,	Z,	Q,	 	
Ex:	½	:		Z,	Q,	 	

1.		 	

	

	
2.		 	

	
3.		 	

	
4.		 	

5.				9.9	
	

6.		 	 7.		 	 8.		 	

9.		1,000,000	 10.		0	 	 	
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N.		Based	on	the	ratios	of		 	triangles	and	
definitions	of	sin,	cos,	tan,	csc,	sec	and	cot	solve	each	of	the	following	
trigonometric	problems.		Simplify	your	answers.		Rationalize	the	denominator.			
No	decimal	answers.	
	
	
	
	
	
	
	
	
	
	
	
Solve	for	x	and	y:	
	
1.			 	 	 	 2.		 	 	 	 	 3.				
	
	
	
	
	
	
	
	
	
	
4.		 	 	 	 	 5.	a)	Find	x	
	 	 	 	 	 				b)	Find:	 	
		
	
	
	
	
	
	
6.		a)	Find	x			

  30° − 60° − 90° and 45° − 45° − 90°

sinθ,cosθ, tanθ,cscθ ,secθ ,cotθ



						b)	Find:	 	
	
	
	
	
	
	
	

O. Solve	each	word	problem	using	skills	you	have	learned	in	Alg1	and	Alg	2.	
	

1. At	a	small	theater,	tickets	for	adults	cost	$12	and	tickets	for	children	cost	
$8.		At	one	performance	ticket	sales	were	$480.		How	many	people	may	
have	attended	the	performance?	
	
	
	
	

2. Quinn	and	Kyle	collected	87	aluminum	cans	to	recycle.		Quinn	collected	
twice	as	many	cans	as	Kyle.		How	many	can	did	each	person	collect?	

	
	
	

	
3. Susan	has	13	coins	in	her	pocket	with	a	total	value	of	$1.05.		She	has	only	

dimes	and	nickels.		How	many	of	each	type	of	coin	does	Susan	have?	
	
	
	
	

4. You	buy	a	jacket,	and	the	sales	tax	is	6%.		The	total	cost	is	$79.49.		Find	the	
cost	of	the	jacket	before	the	tax?	
	
	
	
	

5. While	on	vacation,	your	family	rented	a	car	for	$293.		The	car	rental	cost	
$180,	plus	$0.25	for	every	mile	driven	over	150	miles.		How	many	miles	did	
you	drive	while	on	vacation?	
	
	
	

sinθ,cosθ, tanθ,cscθ ,secθ ,cotθ



	
6. A	city	wants	to	double	the	area	of	a	rectangular	playground	that	is	72	feet	

by	48	feet	by	adding	the	same	distance	x	to	the	length	and	width.		Write	and	
solve	an	equation	to	find	the	value	of	x.	


